


























id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}

id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}



id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}

id0 id1(id2 id3) {

id0 id2 = new id0(id4);

id0[] id1 = new id0[id2.id3()];

id0.id1(id2); id0.id3();

return new id0(id1, lit0);

}
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Komponente A Komponente B

























176 use cases in total, 150 contain cloning
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𝐹𝑒ℎ𝑙𝑒𝑟

𝐽𝑎ℎ𝑟
×

𝑃𝑇
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𝑭𝒆𝒉𝒍𝒆𝒓

𝑱𝒂𝒉𝒓
×

𝑃𝑇

𝐹𝑒ℎ𝑙𝑒𝑟
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𝑭𝒆𝒉𝒍𝒆𝒓

𝑱𝒂𝒉𝒓
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𝑭𝒆𝒉𝒍𝒆𝒓
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×
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𝐹𝑒ℎ𝑙𝑒𝑟



𝐹𝑒ℎ𝑙𝑒𝑟
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𝐹𝑒ℎ𝑙𝑒𝑟

𝐽𝑎ℎ𝑟
×

𝑷𝑻

𝑭𝒆𝒉𝒍𝒆𝒓



𝐹𝑒ℎ𝑙𝑒𝑟

𝐽𝑎ℎ𝑟
×

𝑷𝑻

𝑭𝒆𝒉𝒍𝒆𝒓



𝑃𝑇

𝐽𝑎ℎ𝑟



𝑃𝑇

𝐽𝑎ℎ𝑟





Komponente A Komponente B







ΔAufwand = %BlowUp × %CloneAffectedEffort



ΔAufwand = %𝐁𝐥𝐨𝐰𝐔𝐩 × %CloneAffectedEffort







ΔAufwand = %𝟏𝟐 × %CloneAffectedEffort



ΔAufwand = %12 × %𝐂𝐥𝐨𝐧𝐞𝐀𝐟𝐟𝐞𝐜𝐭𝐞𝐝𝐄𝐟𝐟𝐨𝐫𝐭
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ΔAufwand = %12 × %𝟓𝟎



ΔAufwand = %12 × %50 = 𝟔%









Ersparnis Aufwand = 𝟔%



Ersparnis Aufwand = 𝟔%

𝑃𝑇

𝐽𝑎ℎ𝑟
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